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QUESTION 1

What information is used to separate VLANs on a VLAN trunk that connects multiple VLANs? 

A. The VLAN tag 

B. The IP Header 

C. The VID 

D. The Priority Value 

Correct Answer: A 

 

QUESTION 2

What happens in a TCP session if a segment is not acknowledged within a certain time period? 

A. The missing segment is retransmitted. 

B. The TCP session is terminated. 

C. The sender sends the next segment. 

D. An ICMP destination unreachable message is sent. 

Correct Answer: A 

 

QUESTION 3

What type of MAC address is ff:ff:ff:ff:ff:ff? 

A. Unicast 

B. Multicast 

C. Broadcast 

D. Anycast 

Correct Answer: C 

 

QUESTION 4

What happens immediately after an Ethernet switch receives an Ethernet frame? 

A. It records the destination MAC address and the interface on which it arrived. 

B. It records the source MAC address and the interface on which it arrived. 
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C. It floods the frame out of all its interfaces except the interface on which the frame arrived. 

D. It transmits the frame out of the appropriate interface. 

Correct Answer: B 

 

QUESTION 5

Which compact flash on a Control/Switch processor on a Nokia 7750 SR stores the runtime image and the running
configuration? 

A. SF 1 

B. SF 2 

C. SF 3 

D. Both CF1 and CF2 

Correct Answer: D 
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